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he remainin tions.
(3) Assume suitable data if nncnunwﬂ —

(4) Figures to right indicate full marks.

Attempt the Multiple Choice Questions 6
D#include<stdio. h>

Int main()

\
int a=0;
a=at+t+ + at++4+ - g4+ + ++a:
printf{"%d\n", a);

return 0;

)
The output of above program is’ P
(a) 2 (b) 0 (c) & (d) Errﬂr |
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ii) #include <stdio.h>

int main()
{ int x.
x = 10;
if(x > 10)
x -= 10;
else if(x >=0)
x += 00:
else if(x)
X +=10;
else
x-=10;

printf("%d\n",x);
return 0;

J

Convert the following
1)153 from base 10 to Hexadecimal
1)1100 1101 1001 1011 from base 2 to decimal

1) 143 from base 8 to decimal |
Differentiate between Structure and Union
What is recursion? Write a program using recursion to calculate the value

Write a function to reverse a 3 digit number
Write a program to display following pattern

0

01
010

S0 101
01010

Write a program to find the frequency of digits in a set of numbers and remove d

from an array .For ex. - :
A:{1,2*3,4,5y}. or ex. array A={1,2,3,4,2,5,2} frequency of 2 is 3 and resultan

Explain the concept of nested structure? Declare a structure to enter e

Information like name, 1d, salary, date of joining. Use nested structure to get thy
of an employee. Write a program to read 10 records and display them.

Ex.pial‘n strncat() & strepy() mt.fith example. Also write a program to check whethel
string 1s palindrome or not without using inbuilt string functions,

Differentiate between ca|] by value and call by reference. Write a program to ¢

Factorial of a number using call by reference.
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What is file? Explain the functions available for Read

g & W
d Star
& t-x ?
&

s of"

Write a program to calculate sum of diagonal element

For ex.

Write a program to take student information from user an
i &3

b)

I

5908
1 47

LT

operator

X-X/21+x/31-x/41.....

Write a program to calculate the
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